CODE CRACKING

A 16 + 9 = J 15 + 6 = S 27 + 13 =
B 14 + 8§ = K 17 + 10 = T 19 + 9 =
C 12 +7 = L 24 + 6 = U 30 + 9 =
D 1C + 6 = M 13 + & = v 23 + 11 =
£ 8 +5 = N 26 + 6 = W 28 + 10 =
F 7 +4 = 0 20 + 15 = X 35 + 10 =
G 9+ 3 = [ 25 + 8 = Y 29 + 12 =
H 11 +9 = Q 22 + 9 = /A 25 + 25 =
I 13+ 5 = R 21 + 8 =

How To Crack The Code:

First answer the top section, after obtaining all the answers you
will now be able to complete the bottom puzzle.

BTHEeRTETE TTINEE 183 282013 16391927

A ’_lf(lr‘

R {B“.( érrel!




